Monday 11t January Maths Task

Multiplying by 10

Remember to multiply by 10, move all the digits along 1 place to the left!
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30x 10= 300
Task 1: Complete these calculations.
1. 4x10= 6.22x 10 =
2. 6x10= 7.93x 10 =
3. 12x10= 8.51x10 =
4. 45x 10 = 9.79x 10 =
5 87x10= 10.31 x 10 =

Task 2: Draw a bar model for each statement.

1. 4 teams each have 10 players.

2. 10 teachers eat 3 biscuits each.

3. 6 buses each have 10 passengers.

4. 10 children each have 6 Pokémon cards.
5

. 4 dogs that each eat 10 biscuits.

Task 3: Complete this task by putting <,>,= in each box.

1. 7x10 10 x 7
2. 19x10 17 x 10
3. 43x10 10 x 40

Task 4: Can you solve the problem?

1. There are 31 different clubs at Hayes Park Primary School. There are 10 children in

each club. How many children attend the clubs in total?




